Item number Description Supplier Part number Quantity (per module) Package Size Number of Packages (One module) Price Subtotal

A0061-0001 $25-32L Aluminum Sprocket AndyMark am-0233 1 1 1 11.00 11.00
A0061-0002 Three Hole Bracket AndyMark am-0572 4 1 4 4.00 16.00
A0061-0003 CIMCoder AndyMark am-3314a 1 1 1 42.00 42.00
A0061-0004 Right Angle Drive Armabot A0042 1 1 1 89.00 89.00
A0061-0005 T81 Hub, 3/8 Hex Banebots T81H-HS61 2 1 2 4.50 9.00
A0061-0006 T81 Wheel, 2 7/8 diameter, 60A Durometer Banebots T81P-295BB 2 1 2 3.50 7.00
A0061-0007 Roller Chain, Single Strand, ANSI Number 25, 1/4" Pitch, 1 ft. Length McMaster-Carr 6261K171 1 1 1 5.14 5.14
A0061-0008 Zinc-Plated Steel External-Tooth Lock Washer for Number 10 Screw Size, 0.195" ID, 0.41" OD McMaster-Carr 91114A011 1 100 1 3.26 3.26
A0061-0009 Black-Oxide Alloy Steel Socket Head Screw, 8-32 Thread Size, 1-3/8" Long McMaster-Carr 91251A026 4 10 1 6.97 6.97
A0061-0010 Black-Oxide Alloy Steel Socket Head Screw, 10-32 Thread Size, 1/4" Long McMaster-Carr 91251A338 4 50 1 14.80 14.80
A0061-0011 Black-Oxide Alloy Steel Socket Head Screw, 10-32 Thread Size, 1/2" Long McMaster-Carr 91251A342 8 100 1 9.60 9.60
A0061-0012 Black-Oxide Alloy Steel Socket Head Screw, 10-32 Thread Size, 5/8" Long McMaster-Carr 91251A344 4 100 1 10.28 10.28
A0061-0013 Black-Oxide Alloy Steel Socket Head Screw, 10-32 Thread Size, 3/4" Long McMaster-Carr 91251A345 4 100 1 10.69 10.69
A0061-0014 Black-Oxide Alloy Steel Socket Head Screw, 10-32 Thread Size, 1-3/4" Long McMaster-Carr 91251A352 4 25 1 6.16 6.16
A0061-0015 Black-Oxide Alloy Steel Socket Head Screw, 8-32 Thread Size, 2-3/4" Long McMaster-Carr 91251A827 2 10 1 9.84 9.84
A0061-0016 Top-Lock Distorted-Thread Locknut, Zinc-Plated Low-Strength Steel, Grade 2, 10-32 Thread Size McMaster-Carr 91837A017 8 100 1 5.88 5.88
A0061-0017 Aluminum Unthreaded Spacer, 5/16" OD, 1/4" Long, for Number 8 Screw Size McMaster-Carr 92510A542 2 1 2 1.49 2.98
A0061-0018 Aluminum Unthreaded Spacer, 3/8" OD, 1" Long, for Number 10 Screw Size McMaster-Carr 92510A649 2 1 2 1.27 2.54
A0061-0019 18-8 Stainless Steel Nylon-Insert Locknut, Black-Oxide, 8-32 Thread Size McMaster-Carr 94407A102 4 100 1 9.04 9.04
A0061-0020 Cadmium-Plated Steel MIL. Spec. Washer for Number 10 Screw Size, NAS 1149-F0332P McMaster-Carr 95229A370 4 100 1 3.07 3.07
A0061-0021 Cadmium-Plated Steel Mil. Spec. Washer for Number 10 Screw Size, 0.365" OD, MS-27183-47 McMaster-Carr 98032A466 8 100 1 2.40 2.40
A0061-0022 CIM Motor VEXpro 217-2000 1 1 1 27.99 27.99
A0061-0023 16T Aluminum Hub Sprocket (#25 Chain, 1/2" Hex Bore) VEXpro 217-2642 1 1 1 6.99 6.99
A0061-0024 Clamping Shaft Collar - 1/2" Hex ID VEXpro 217-2737 1 1 1 2.99 2.99
A0061-0025 VersaPlanetary Ring Gear VEXpro 217-2816 3 1 3 9.99 29.97
A0061-0026 VersaPlanetary 4:1 Gear Kit VEXpro 217-2818 1 1 1 10.99 10.99
A0061-0027 VersaPlanetary 5:1 Gear Kit VEXpro 217-2819 1 1 1 10.99 10.99
A0061-0028 VersaPlanetary 10:1 Gear Kit VEXpro 217-2820 1 1 1 10.99 10.99
A0061-0029 1/8 Acetal Spacer - 3/8" Hex (10-pack) VEXpro 217-3256 1 10 1 4.99 4.99
A0061-0030 1/16 Acetal Spacer - 1/2" Hex (10-pack) VEXpro 217-3257 1 10 1 4.99 4.99
A0061-0031 1/4 Acetal Spacer - 1/2" Hex (10-pack) VEXpro 217-3259 3 10 1 4.99 4.99
A0061-0032 775pro VEXpro 217-4347 1 1 1 17.99 17.99
A0061-0033 Talon SRX Data Cable (4-pack) VEXpro 217-4358 1 4 1 14.99 14.99
A0061-0034 Talon SRX Encoder Breakout Board VEXpro 217-4398 1 1 1 9.99 9.99
A0061-0035 VersaPlanetary v2 Base Kit, 1:1, 1/2 Hex Output VEXpro 217-4973 1 1 1 34.99 34.99
A0061-0036 VersaPlanetary v2 Base Kit, 1:1, 3/8" Hex Output VEXpro 217-4974 1 1 1 34.99 34.99
A0061-0037 VersaPlanetary Integrated Encoder VEXpro 217-5046 1 1 1 49.99 49.99
A0061-0038 Talon SRX VEXpro 217-8080 2 1 2 89.99 179.98
A0061-0039 120mm Lazy Susan Bearing VXB ball bearings KIT12876 1 1 1 9.37 9.37




notes

Can be swapped to change drive ratio

Can be swapped to change steering ratio, 2x 7:1 is equivalent ratio

Can be swapped to change steering ratio, 2x 7:1 is equivalent ratio




